74,

75.

76.

7.

I P I g2 N o
Which one of the ﬁ:rllod.ﬁl;' Widets Y

safety level-4 pathogen 7

(a) Ebola virus

{b) Rinderpest virus

{c} Foot and Mouth Disease virus
(dy Mewcastle disease virus

The bird suffers from dyspnoca and
asphyxia. There is accumulation of mucus
in trachea, Tt tosses and shakes its head,
coughs, extends its neck and shows gasping.
These clinical signs are characteristic of
which one of the following parasitic
infestations?

(a) Symgamus trachea

(b) Crathosoma bronchialis
{c)
(d)

Lactation tetany in high yielding dairy cows
iz a well recognised production disease,
Which of the following factors serves as a
predisposing cause for the occurrence of the
same 7

(a)
(b)

Mammomeonogamus nasicda
Mammomonogamus laryngeus

High ammonia content of rumen

Increased manganesc and decreased
cobalt concentration in diet

{c) Feeding high energy diet which
interferes with manganese absorption
None of the above is a justified

predisposing cause to the syndrome

()

Which one of the following irace minerals
iz required for growth of chicks and
maintenance of xanthine oxidase content of
tissues 7

(2)
(b}
(c)
(d)

Selenium
Zinc
Maolybdenum
Copper

79.

81.

VIruses is aiﬁéﬂt‘i !I!S{.Fullyghi!itis, circular and depressed vellow 1o

yellowish green necrotic aress in liver are
pathognomonic lesions of which one of the
following diseases in poultry 7

(a) Canker disease

(b) Black head disease

(¢} Coccidiosis

(d) Tritrichomoniasis

Which one of the following diseases is
not an occupational disease of abatloir
workers 7

{(a}) Bruceilosis

{b} Erysepalosis

{c) Hydatidosis

(d) Q-fever

Which one of the following pairs is comrectly
matched 7

Drug Class
(a) Detomidine Phenothiazine
derivative
(b) Propriopromazine Bronchodilator
(c) Furosemide Diuretic
(d) Salbutamol i -adrenoceptor
agonist

Match List-1 with List-II and select the
comrect answer using the code given below
the lists :

List-1 List-ff
{leemobilizing Agent) {Antidare)
A.  Eworphine 1. Maloxone
B. Fentanyl 2. Yohimbine
C. Ketamine 3. Diprenorphine
D. Xylazine 4. Dopram
Code :
A B C D
2y 3 1 2 4
By 3 2 1 4
{cy 4 1 2 3
dy 4 2 1 3
{Comd.)
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Which one of the following is the carliest
strain used for the Rabies vaccination 7

{a) Julie strain
(b} Flury strain
(c} Joseph strain
(d) SAD strain

Best guality Mozzarella cheese is made
firom :

(a) Cow milk
(b} BufTalo milk
(c) Goatl mitk
(d) Sheep milk

Homogenization of milk by a two stage
machine results in :

(@) Increased clumping of fat and hence
increased viscosity

{b) Increased clumping of fat and hence
increased stability

{(c) Decreased fat clumping and reduced
viscosity

{(d) Decreased fat clumping and reduced
stability

The milk protein that participates in the

biosynthesis of lactose is

(a) Beta-lactoglobulin

{b) Kappa-casein

(c) Alpha-lactalbumin

{d) MNon-protein Nitrogen

Which one of the following constitutes
the base milk solids used for making
shrikhand ?

(a) Khoa
(b) Chakka
(¢} Chhana
(d) Concentrated milk

RE.

89,

a0,

quru
Consider the following statements :

l.  The Khoa prepared from cow milk
contains more percentage of lactose as
compared to that from buffalo milk.

2. The chhana prepared from cow milk
contains less percentage of protein as
compared to that from buffalo milk.

Which of the statements given above igfare
correct 7

(a) 1 only

{b} 2 only

() Both1and2
(d) Meither 1 nor 2

Heterosis in the F generation is equal to
(a) Ed¥y?
(b) EZdy*
{c) Zdy
(dy Edy

Which one of the following is the normal
level of lactoferrin in bovine milk ?

(a) 02 mgiml
{b) 04 mg/ml
() 06 mg/ml
(d) 08 mg/ml

The shelf life of bulter increases if

(a} there is adequate and uniform
distribution of salt

{b) cream is ripened
{c) consistency and texturs are improved
{d} there is excessive churning
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of ghee, is used for the detection of
adulteration by which one of the following
oils 7

(a) Groundnut oil

(bl Mustard oil

{c) Cotton seed oil

(d) Sesame oil

A ‘knobbed” spermatozoan defect
is associated with which part of
spermatozoa 7

(a) Tail

(t) Mid piece

(e) Meck

(d) Acrosome

Which one of the following is the most
common method for marking in pigs ?

(a) Body tattooing

(b} Ear notching

{c) Ear tattooing

(d) Branding

Consider the following stalements -

1, Insemination of the cow should take
place during the period from the middle
to the end of estrum, about & to 24
hours before ovulation,

2. Spermatozoa retain their fertilizing
capacity for up to 4 to 6 days in mare,

Which of the statements given above isfare

correct 7

(a) 1 only

(b} 2 only

{c) Bothland2

{d) MNeither 1 nor 2

L. Vitamin A deficiency mostly ocours
during the latter half of gestation and
is characterized by abortion or by birth
of weak or dead calves.

2. Vitamin A requirements are higher for
female animals.

Which of the statements given above isfare

correct 7

(a) 1 only

(b) 2 only

{c) Bothland2

{(d) Neither 1 nor 2

. Consider the following animals :

1. Mare
2. Buffalp
3. Cow

What is the ascending order for the length
of gestation period of these animals 7

() 1-2-3
(b) 3-1-2
(€} 2-3-1
(dy 3-2-1

. Which one of the following agents used in

semen extender protects sperms from
dangers ol freczing 7

(a) Sodium citrate

(b} Glycerol

(€} Sodium bicarbonate

(d) Mapnesium sulphate

(Contd.)
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98. Mutch List-I with ListI1Vand! et ihe"1 €7 {gif {0 cMsider the following acids -

99

100.

correct answer using the code given below
the lists :

List-f Lise-II
{Animals) (Shapes of
placenia)
A, Primates 1. Spheroidal
B. Canine 2. Cotyledonary
€. Ruminants 3. Diffuse
.  Swine 4. Zonary
Code :
A B C D
@ 3 1 4 2
b 3 4 1 2
{c} 4 1 2 3
id) 4 2 1 3

*Value numbers’ are correction factors
used in the feed evaluation system

developed by
{a) Kellner
{b) Armsby
{c) Mormison
(d) Thaer

Consider the following feed ingredients ;
1. Wheat grain

2. Wheat straw

3.  Wheat bran

4. Cotton seed cake

Which one of the following is the right
sequence of the above feed ingredients on
the basis of their crude protein level (%4)
from lowest to highest ?

(@) 1-3-24
(b) 2-1-34
(¢) 4-3-12
(d) 3-2-4-1

102,

103,

1. Succinate

2. Isocitrate

3.  Alpha ketoghutarate
4. Citrate

Which one of the following is the right
chronological sequence of the above acids
appearing in the tricarboxylic acid cycle 7
(a) 1-3-2-4
(by 2-3-1-4
(c) 3-4-2-]
(d) 4-2-3-1

With reference to poultry management,
consider the following statements :

When a Rhode Island Red male bird is
mated to Barred Plymouth Rock

1. all the female progeny will be Red.

2. all the male progeny will be barred.
Which of the siatements given above isfare
cormect 7

{a) 1 only

(bl 2only

(c) Both!and2

(d) Neither 1 nor 2

Consider the following statements :

1.  Godavari breed of buffaloes have a
long calving interval as compared to
Mourrah.

2. The body of Mehsana breed of
buffaloes is longer as compared to
Murrah.

Which of the statements given above isfare
correct 7

(a} 1only

(t) 2 only

{c) Both 1 and?2
(d) Neither ! nor 2

(Contd.)
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Consider the following :
I. Malvi

2. Jafarabaddi

3. Bhadawiri

Which of the above are the breeds of buffalo
found in India 7

(a) 1 and2only
(b) 2and 3 only
fc} 1and3only
(d) 1,2and3

Tyzzers disease in foals is caused by :
(a) Clostridium piliformis

(b} Salmonella abortus equi

{c) Ehrlichia egui

(d) Pseudomonas mallef

. ‘Post Parturient Haemoglobinuria® is a

common disease in buffaloes. Which one
of the following conditions is associated
with its causation ?

(a) Subnormal plasma calcium levels

(b) Subnormal plasma phosphorus levels

(c) Decreased supply of Vitamin D, in feed

{d) Copper toxicity 2.
Polic-encephalomalacia in domestic
ruminants occurs due to the deficiency of

{a) Thiamine

(b} Miacin

{c) Riboflavin

(d)} Pyridoxine

108.

110.

111,

"WW.recr 4 LY L . . —
WNTE L”“ﬁfs’.lﬁ'ﬂ*' one of the following pairs is nor
comrectly matched 7

Poison/Drug Antidote
(2) Arsenic  Dimercaprol
(b} Lead Caleium disodium edetate
(¢) Warfarin  Vitamin K
{d) Carbaryl Diacetylmonoxime

Which one of the following class of
antibodies has shortest half life 7

() IgM
(B IgG
(¢} IgE
d) IgaA

[ntrons are sequences of DNA that
(a) are non-coding.

(b) arc expressed as genes.

(c) regulate mRNA production.

(d) code for long sequences of amino
acids.

The High Temperature-Short Time (HTST)
method of milk pasteurization is based ona
temperature-time combination of ;

{a} 70°C for 15 seconds
(b} 72 °C for 15 seconds
{c) 70°C for 15 minutes
{dy 72°C for 15 minutes

Consider the following food borne
pathogens :

1. Listeria monocytogenes
2. Yersinia enterocolitica
3. Salmonella enteritidis

Which of the above are capable of growing
in chilled foods 7

{a) 1 and2 only
(b) 1and 3 only

{c) 2and 3 only
(d)

1,2and 3
(Contd.)
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113. Consider the following sxa*émrs!’E“’”””'“ljllé.t'ﬁﬁa}t.li!s the maximum number of sheap/

114,

115.

!. The carcass of hen contains more
percentage of fat as compared to that
of duck.

2.  The carcass of sheep containg more

percentage of meat as compared to pig.
Which of the statements given above is/are
correct 7

{a) 1 only

(B} 2only

{c) Both!and?2
(d) Meither 1 nor 2

In tandem method of selection, the number
of traits considered at a time is‘are ;

{a) One

(b) Two

{c) Three

(d) More than three

Consider the following statements :

The rate of change of gene frequency in a

population subject to immigration depends

on the :

1. Gene frequency among the immigrants
only.

2.  Gene frequency among the natives
only.

3.  Immigration rate and the difference of
gene frequency between immigrants
and natives.

Which of the staternents given above is/are

correct 7

(a) 1 only

(b) 2and3

(c) 3only

(d) 1and3

7.

119.

120,

goats allowed to be transported in railway
wagon having area of less than 21-0 m? 7

() 30
®) 70
{c) 90
{dy 100

Surgical catgut {suture material) is prepared
from the ;

(a) Oesophagus

(b} Stomach

(c) Imestine

(d)

Which one of the following is the best
system for broiler production ?

(a) Deep litter system

(b) Slot systemn

(c) Battery system

{d)} Cage system

Ligaments

The homeland of Amritmahal breed of
draught catile is :

(a)
(b)
(<)
{d)

Mysore
Nasik
Alwar

Rohtak

Sodium bicarbonate as adulterant in milk is
detected by :

{a) Roszalic acid test

(b) Tetrazolium test

(¢) PResazurin test

(d) Bomer's Phytosterol test

{Contd.)
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Consider the following substance
l.  Acridine dyes

2. Hydroxylamine

3. Nitrous acid

Which of the above is/are mutagens ?
fa) 1and 2 only

(b} 2 only

{c} 1and3 only

(d) 1,2and3

In their experiment 1o show the semi-
conservative replication of DNA, which one
of the following isotopes was used by
Meselson and Stah! ?

(a) H

{b) MC

{c] I.'-N

[d} ]2!”1

CAAT Box is located approximately at

around which one of the following positions
from transcription initiation site in a gene 7

{a} — 25 bases
(b} — 50 bases
{c) —75 bases

{d) - 100 bases

Which one of the following steps is the first
one for creating the ransgenic animals 7

(2) Gene shears
{b) Gene split

{c}) Ciene construct
(d) Gene homeotic

A chromosome in which centromere divides
the chromosome into ™wo unequal arms is
known as

{a) Telocentric chromosome
(b} Acrocentric chromosome
(c) Submetacentric chromosome

(d) Metacentric chromosome

([

W 'H"'I'l" Yecr LI'I“:;(‘J!I éfl!l'[!

Giénctic drift is also called
(a) Erwin Charpaff effect
(b)  Alfred Hershey effect
{c) Sewall Wright effect
{d) Oswald Avery effect

Non-additive genetic factors make a larger
contribution to the phenotypes when the
heritability of the character is :

(a) Low

(b} Medium

(e} High

(d} Very high

In the context of animal breeding, the
combination of the maternal and common
environmental effecis and the dominant
effect, denoted by C* can be estimated by
{(a) Half-sib correlation

)] Full-sib cormelation

{c} Halfsibcorrelation + Full sib correlation
(d) Full sib correlation — Half sib correlation

Match List-1 with List-11 and select the
correct answer using the code given below
the lists

Lisgt-d Lise-ff
Type of (Expected individual
Crossing) heterosis)
A Straight bred A N
B. Back cross 2.1
C. Three-breed cross 3. 2
D. Rowational cross 4. 0
{2 Sire breeds)
Code :
A B C D
(@ 3 2 1 4
by 3 1 2 4
i}y 4 2 1 13
dy 4 1 2 3

(Contd.)
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Out crossing combined with selection is a
highly useful technique for which of the
following 7

{2} Between breed improvemen for highly
hereditary trait

Within breed improvement for highly
hereditary trait

Between breed improvement for lowly
hereditary trait

Within breed improvement for lowly
hercditary trait

(b)
(<)

{4

Artificial insemination maximizes which of
the following 7

ia).
(b)
(c)
(d)

Selection and breeding systems
Selection and production
Selection and reproduction
Breeding systems and production

Consider the following :

1. Homozygosity

2.  Heterozygosity

3. Fitness

When an animal population is subjected to
cross breeding, which of the above isfare
reduced ?

(a) 1 only

(b} 2and3 only

() 1 and3only

(dy 1,2and3

The species for which selective
breeding should be the best strategy for
enhancing their performance traits in our
conditions is :

(a) BufTalo

(b} Sheep

{c) Rabbit

{d) Poultry

14.

Match List-1 with List-Il and select the
correct answer using the code given below
the lists :

List-1 List-{1
{Breed) {Major histocompati-
hility complex)
A, Cattle 1. OLA
B. Horses 2. Ea-B
C. Poultry 3. ELA
4. BOLa
Code :
A B C
{2y 2 3 4
b 4 3 2
)y 2 1 4
dy 4 1 2

Match List-1 with Lisi-1l and select the
correet answer using the code given below
the lists :

List-1 List-d]
(Cross Breed) (Liiliey)
A, Brangus 1. Carpet wool
B. Avikalin 2. Apparel wool
C. Frieswal 3. Beefl
4, Milk
Code *
A B C
(ay 3 2 4
by 4 2 3
fep) 3 1 4
(dy 4 1 3

(Contd.)
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18.

S EEL T

The addition of whic
following enzymes to barley based diets,

" improves the prowth rate and feed efficiency

of broilers 7

(a) Xylanase
(b) Phytase

(c) [P-plucanase
(d} Cellulase

The rate of enzyme action is imfluenced
by :

1. Substrate concentration

2. Enzyme concentration

3. Acidity

4, Temperature

Which of the above are correct 7

{a) 1 and 2 only
{b) Zand3 only
{c) 1,3 and 4 only
{dy 1,2,3and4

Consider the following statements :

. If Vitamin A is available over and
above the requirements, it is stored in
the animal body in substantial
amounts.

2, Vitamin E iz not stored in the animal
body in large amounts for any lengih
of time and hence a regular dietary
supply is required.

Which of the statements given above is/are

correct 7

fa) 1 only

(b) 2 only

(c) Bothland2

(d) Meither | nor 2

Fformation 4115t

Hiro mhdiare af

|

20.

21.

yww. recrultment guru , ,
one D‘]' the H‘ 'H'Le feeds are classified into concentrates

and roughages based on :
(a)
(®)
(c)
{d}

Acid detergent fibre content
Neutral detergent fibre content
Crude fibre content

Energy content

Match List-1 with List-1I and select the
correct answer using the code given below
the lists :

List-{ List-II
{Analytical (Contents}
Jraction)

AL NDF i. Cell contents and
pecting

B. A Dsolubles 2. Cellulose, lignin
and silica

C. N D solubles 3 Hemi cellulose
and cell wall
nitrogen

D ADF 4. Cell wall
components

Code :

A B C D

(@ 4 3 1 2

By 2 1 3 4

< 4 1 3 2

@ 2 3 1 4

Drrving a known weight of food to a constant
weight at 100°C is not satisfactory for
determining the moisture content of which
one of the following materials 7

(a) Groundnut cake
(B) Maize silage
(¢} Lucerne hay
{d). Wheat straw
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24,
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With high concentrate diets the normal
function of the rumen is disrupted by the
rapid accumulation of fermentation acids
and the bacterial
mucopolysaccharides during the cell lysis,
which results in increased viscosity of the
rumen fluid and the formation of stable
foam. What is the most likely condition 7
(a) Rumen stasis

(b) Acidosis

{c} Frothy bloat

{dy Feedlot bloat

release of

To obtain corrected value of starch
equivalent (SE} of a chaffed dry roughage
(straw/hay), the crude fibre percent is
multiplied by which one of the following
comrection factors for deduction from the
calculated SE value ?

(a) 029

by 0-39

{cy 049

{dy 059

In cattle, symptoms like abnormal appetite
and chewing of wood, bones, rags and
other foreign materials indicate the
deficiency of

{a) Magnesium

(b) Sodium

{c) Calcium

(d) Phosphorus

26.

tch List-l with List-I1 and select the

correct answer using the code given below
the lists :

List-f List-If
(Type of Wool) (Spinning count)

A. Fine wool 1. 50s - 62s
B. Medium wool 2. 645 — 80s
C. Long wool 3, < 50
D. Carpet wool 4, 445 — 505
Code :

A B C D
(ay 2 1 4 3
by 3 4 1 2
) 3 1 4 2
d 2 4 1 3

With reference to milking of buffaloes,

consider the following :

1. Washing of the milking barns
immediately before milking

2. Washing of the milking barns
immediately after milking

3.  Washing of hind quarters and thighs
before milking

4.  Washing of hind quarters and thighs
after milking

5. Wiping of udder with cloth treated with
strong lugols iodine (10%) before
milking

Which of the above are comrect steps that

need to be followed 7

(a) 1,3, 4and5 only

(b) 1,2,3,4and 5

{e) 2,3, 4and5 only

{d) 2and 3 only

(Contd.)
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Which one of the following groups of
disinfectants would be ideal for disinfecting
dairy ulensils ¥

(a) Organic chlorides

(b} Inorganic chlorides
(¢} lodophores

(d) Potassium dichromate

Among the following what is the most
economic livestock on the basis of
turnover ?

{a) Murrah buffalo

(b} Sahiwal cow

(¢} Exotic breeds of pigs

{d) Indigenous breeds of pigs

Considering the law of diminishing retums,

what would be the optimum level of feeding .
grain mixture for buffalo heifers ?

fa) (4%

(b) 1-4%

(¢} 2:8%

(d) 3-8%

lodophor teat dips have been used
extensively and marketed in a variety of
formulations ranging from :

(a) 001 1o -05% iodine

(b} 010t 1-00% iodine

{c) 1-00to 1-50% iodine

(d) 1-50 to 2-00% iodine

Consider the following animals :

. Cow 34,
2. Sheep

3. Goat

4.  Mare

in which of the above can the ovaries
be directly examined by rectal palpation
anly 7

32,

Consider the following statements :

1. Photoperiodicity has no bearing on
both sperm cell formation and
steroidogenesis in males of species
with a seasonal reproductive pattern.
The testes function in both
spermatogenesis and secretion of
steroid hormones.

Which of the statements given above isfare
correct ?

(a) 1only

(b) 2 omly

{c) Both1and2

(d} Meither 1 nor 2

Consider the following statements :

1.  Indian meat cooking practices allow
lower risk of meat-bome discases.
Indian meat products contain relatively
higher levels of chemical contaminants
because of higher per capita use ol
chemicals in agriculture and animal
husbandry practices.

Which of the statements given above isfare
correct 7

(a) 1 only

(b) 2only

() Both1and 2

(d) Meither | nor 2

Constder the following :
b, Suffolk

2. Merino

1. Dorset

Which of the above isfare the exotic fine
wonl breeds available in India 7

(ay 1 only {a) 1only
(by 2and3 (b} 1and3 only
(c} 3only {e} 2only
(d) land4 (d) 1,2and3
10 (Comed.)
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Casein, the major milk profein exists as
{a} Calcium Casecinate

(b} Colloidal suspension

(¢} Calcium Phosphate Complex
{d) Soluble form

In cattle and swine, the first part of lactation
15 usually accompanied by a period of scxual
inmactivity called :

(a) Lactation estrus

(b) Lactation diestrus

{¢) Sexual estrus

(d) Sexual diestrus

Amongst Membrane Separation processes
NF (Nano-filtration) is generally used for :
(a} Dehydration of whey

(b) Demineralization of whey a1,

(¢} Defatting of whey
{d) Remowval of bacteria

In dairy cattle, the freemartin condition
causes mostly the sterility. Freemartin
condition shows :

(2} Normal fallopian tubes

(b) Adhesion of fallopian tubes
(¢} Rudimentary fallopiari tubes
(d) Absence of fallopian tbes

42

The efficiency of pasteurization process is
judged by the test namely :
(a) Turbidity test

(b} Sterility test
(¢} Pastewrization index
{d) Alkaline-phosphatase test

cY HH’HH‘J!I M!} H

tch Lisi-1 with List-Il and select the
cormect answer using the code given below
the lists :

List-f Lise-df

{Animal) {Exstrus)
A. Mare b, 20—42 hrs.
B. Sow 2 1—5 davs
C. Ewe 3. 1—14 days
D. Doe 4. 20—30 hrs.
Code ;

A B C D
{a) 4 1 2 3
w4 2 1 3
© 3 2 1 4
dy 3 1 2 4

In which one among the following meats is
thiamine content highest ?

(a) Beef
{b) Pork
{c) Mutton
{d) Chevon

Which microorganisms are used in the
manufacture of Yoghurt 7

() Lacrobacillus  bulgaricus and
Streptococeus lactis

(b} Lactobacillus bulgaricus and
Streptococcus thermophillus

(c) Lactebacillus laceis and Srreprococcus
thermophillus

(d) Streptococcus cremoris  and
Streplococcus lactis

(Contd.)
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Stunning of animals with CO, and air is
done in ;

(a) Cattle
(b} Buffalo
{c) Sheep
(d) Pig

Consider the following statements regarding
Babesia equi infection in horses :

1. *“Maltese cross™ is formed in red blood
cells.

2. Pathopenesis is. less severe as
compared to Baberia caballi,

3. The sporozoites form bodies similar to
Koch blue bodies in lymphocytes.

Which of the statements given above are
correct 7

(a) 1and2only
{b) 1and3 only
{c) 2and3 only
{d) 1,2and3

Which of the following anti-microbial
combinations i3 likely to produce
antagonistic effect in animal body ?

(a)} Sulfoenamide and Erythromycin

(k) Sulfonamide and Tetracycline

(¢} Cefotaxime and Ciprofloxacin

(d) Chloramphenicol and Ciprofloxacin

Which one of the following pairs is comrectly
matched 7

(a) Babesie notasi . Tick
by Anaplasmea marginale : Tick
i) FHemonchus contortus  : Earth worm
(d) Fasciala hepatica : Snail

47,

49.

atch List-1 with List-II and select the
correct answer using the code given below
the lists :

Lisi-1 Lise-11
{Disease) {Pathological
lesions)
A, Glanders 1. Mesenteric
lymphadenitis
B. Eguine 2. Fistulous
Tuberculosis wither
C. Equine 3. Abscesses in
Brucellosis lymphnode
D. Strangles 4. Oily pus
Code :
A B C D
{ay 4 1 2 3
(b)) 4 2 1 3
€y 3 1 2 4
dy 3 2 1 4

Sialadenitis is observed in animals suffering
from the following diseases except

(a) Rabies

{b) Strangles

(c) Canine distemper

{d) Foot and Mouth disease

A disease characterized by straw coloured

. transudate in pericardial sac with pale friable

liver in the flock of 3 1o 5 week old broiler
is indicative of :

{a) Para myxo virus infection

{b) Awian adeno virus infection

{¢) Influenza virus infection

{d) Herpes virus infection

Ketosis can be prevented by which one
of the following combinations of feed
additives 7

(a) Dicaleium phosphate and calcium
propionate

Sodium propionate and propylene glycol
Sodium bicarbenate and propylene glyeol

Dicalcium phosphate and niacin

(b)
(c)

(d)

{Contd.)
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52,

53

correct answer using the code given below
the lisis :

List- Lise-1f
(Type of Ketosis) (Characieristic}
A, Primary 1. Poor quality feed-
Ketosis stuffs having defi-
ciency of propio-
nate and protein
B. Secondary 2. Excessive amount
Ketosis of butyrate in silage
C. Starvation 3. Cow in pood con-
Ketosis dition fed good
quality ration
D. Alimentary 4. Disease causing
Ketosis reduction of food
intake
Code : ;
A B C D
(@ 2 4 3 1
b 2 3 4 |
€ 3 4 1 2
D3 1 4 2

A mare with a history of recent foaling was
presented in a veterinary clinic with
symptoms of sweating, stiffness in gait and
anuria. The intravencus administration of
calcium provided immediate symptomatic
relief. What would be the most likely
disease 7

(a) Azoturia

(b} Eclampsia

{c) Strangles

{d) Tetanus

The vitamin which is prosthetic group of
Co-enzyme A s :

(a) Miacin
(b) Pantothenic acid
{c} Riboflavin

(d} Pyridoxine

35.
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dyspnoea immediately following ingestion
of sorghum fodder in a dry spell. The
condition further exacerbated following
waler intake. What is the most likely cause
of poisoning 7

(a} Polassium nitrate

(b} Polassium nitrite

(c} Hydrocyanic acid

(d} Potassium cyanide

Which one of the following drugs is the drug
of choice for the treatment of Carbaryl, a
carbamate insecticide poisoning in a dog 7
(a) Dimercaprol

{b) Calcium borogluconate

{€) D-penicillamine

(d} Atropine sulphate

Which one of the following pairs is correctly
matched ?

(a) Endosulphan : Excitation of chloride

channels

(b) Deltamethrin : Excitation of Potassium
channels

(c) Malathion  : Blockade of acetyl
cholinesterase

: Blockade of choline
acetyl transferase

{d) Carbaryl

Interaction between which of the

following cells is essential for better

immune response 7

(a) Macrophage, neutrophil and T cells

(b} Mast cell, neutrophil and T cells

{c) Basophil, T cell and B cell

{d) Macrophage, T cell and B cell
{Contd.)
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Consider the following : & I\";{II}- reference to Clostridium botulinum,

1. Opisthorchis felineus
2. Heterophyes heterophyes
3. Gnathostoma spinigerum

Which of the above isfare fish-borne
Zoonoses 7

{a) 1,2and3
(b} 1 and2 only
(c) 2and 3 only
(d) 3only

In “Cystic echinococcosis™ man serves as ;
(a) Paratenic host

(b) Intermediate host

(c) Definitive host

(dy Reservoir host

Consider the following :

1. Aflatoxins

2. Hydrocyanic acid

3. Botulinum toxin

4. Oxalate

What is the correct sequence of the
relative potencies of the above toxins/
toxicants in terms of the lethal dose in
decreasing order ?

(a) 1-3-2-4

(b)
(c) 3-1-24
(d) 2-1-4-3

Whal is the most common source of
Fasciolopsis buski infection in man 7

{a) Fish
(b) Cyelops

{c) Water chestnut
(d)

Swine

63.

l '2'3—# 64

consider the following statements :

1. Clostridium botulinum toxin iz heat
labile.

2. Thetoxin is produced under anaerohic
conditions.
The toxin causes fatal motor paralysis.

Infant botulism is caused by ingestion
of bacterial spores.

Which of the stalements given above are
correct 7

(a) 1and2only

by 2 and 3 only

(€} 1,2and3only

(dy 1,2,3and4d

The most acceptable mode of euthanasia in

horses is :

(a) Chloral hydrate,
glectrocution

gunshot and

{(b) Barbiturates in conjunction with
general anaesthetics

CO, and CO mixture

Intravenous administration of
Phenobarbital sodium and chloral
hydrate

{c)
(d)

. Which one of the following drugs is

commonly used for treating nervous horses
before a race or show event is done to allow
them to settle down sufficiently to make a
concentrated effort 7

@
(b}
{c}
(d}

Acepromazine
Alropine
Arecholine

Pilocarpine
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1.  Detomidine

2. Xylazine

3. Medetomidine

What is the eorrect order in which the
sedative and analgesic activilies of above
drugs increase 7

{a) 1-3-2

by 1-23

(c) 3-1-2

{(dy 2-1-2

Consider the following

1. Testosterone

2. Slanozolol

3. Boldenone

What is the correct sequence of the above
drugs in decreasing order of their anabolic
activity in race horses 7

(@) 1-3-2

(k) 1-2-3

{c) 3-1-2

{d) 2-3-1

Which one of the following causes is
responsible for the death of animal in
suxamethonium overdosage ?

(a) Hepatotoxicity

{(b) Respiratory depression

(¢} Tachyarrhythmia

(d) Convulsive seizures

An adult cow started passing red urine
4 weeks post parturition with the symptoms
of dry and firm faeces, pale mucus membrane,
temperature of 40°C and tachycardia, What is
the most likely condition ?

(a) Hacmaturia due 1o Babesiosis

(b) Haemoglobinurea due 1o leptospirosis
(c) MNon-infectious haemoglobinurea

{d) Bracken fern poisoning

70.

71.

73

poultry ?

(a) Pullorum disease

(b} Marble spleen disease
(¢} Flip over disease

{(d) Arzona infection

Administration of monensin increases
growth rate in animals by :

{(a) Modulating anabolic pattern

(b} Stimulating growth hormone

{c) Immuno-stimulant action

(d) Enhancing digestibility and nitrogen
utilization in animals

Which one of the following adjuvants is not

a macrophage stimulant 7

(a}) Aluminium hydroxide

(b) Glucans

{c) Muramyl dipeptide

(d) Lipopolysaccharide

Consider the following :
1. Pethidine
2. Morphine
3. Etorphine

What is the correct sequence of the relative
potencies of the above drugs in increasing
order ?

(a) 1-3-2

(b) 1-2-3

(e} 3-1-2

(dy 2-1-3

Cholera-like enteric disease in chickens and
other birds is produced by

{a) Fibrio haemolyeicus

(b) Fibrio parahaemolyricus
(c) Fibrio metschnikovil

(d) Fibrio anguillarum
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